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4.  VISUALIZE A FORWARD PROBLEMS USING A GRAPH

4A. Consider the function

flx) =2"=y

Fill out the table below to graph the forward problem for this function.
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4B. In your own, simple language, explain why the work you did in Problem 4A
represents a forward problem.
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4C. Look back at Problem 4A. Make a conjecture (a mathematical guess) about
what the backward problem for the function f(x) = 2* = y would look like.
Write the symbols and verbal description so that you describe this using both
words and mathematical notation.

dlesiced

wpvt
BacKwards o i
| T =Y
qiven
“ovtput

Start with 6 gwes ovtpvt

and ends wit e
desired m.,.,}- needed

do produee Hhat outpe¥

Note! +o Swup behveen Rrware & bdlkwhd

problem, we pretty much yost fle
mputs  and outpts



Name:

Class #: |

5.  VISUALIZE A BACKWARD PROBLEMS USING A GRAPH

5A. Consider the function

f(x) =2% =51 1

Fill out the table below to graph the backward problem for this function.
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5B. Inyour own, simple language, explain why the work you did in Problem 5A
represents a backward problem.
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Think about This:
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5C. Look back at Problem 4 and 5. What is the relationship between the forward
and backward problems for the function f(x) = 2* = y. Write your response

in both symbols and verbal description so that you describe this using both
words and mathematical notation.
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6. VISUALIZE A FORWARD PROBLEMS USING A GRAPH

6A. Consider the following function

|
|

f@) =%* =y
Create a table of values and graph the resulting curve on these axes below.
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6B. In your own, simple language, explain why the work you did in Problem 6A
represents a forward problem.
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6C. Look back at Problem 6A. Make a conjecture (a mathematical guess) about
what the backward problem for the function f(x) = x? = y would look like.
Write the symbols and verbal description so that you describe this using both
words and mathematical notation.
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7. VISUALIZE A BACKWARD PROBLEMS USING A GRAPH

7A. Consider the function
| @ =% =k

Fill out the table below to graph the backward problem for this function.
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